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Question 1

Question Type: MultipleChoice

Refer to the exhibit.

0510-A# show vrrp 100

Interface : vlanlodQ IFvd4 VRID : 100
Version . State : master-state
Primary IP : 10.0.100.1 Master IP : 10.0.100.2
Virtual MAC : 00:00:5e:00:01:64 Accept Mode : true
Bdmin Pricrity : 110 Operational Priority : 110
Advertise Interval -

(in =secs) Hold Time )

Preempt Status : false

Virtual IP address : 10.0.100.%

master-transitions Lt | advertise-rcvd i
advertise-interval-errors : 0 ip-ttl-errors : 0
pricrity—-zero-pkts-rcvd : 0 priority-zero-pkts-sent : 0
invalid-type-pkts-rcvd : D address-list-errors t 0
pkt-length-errors : 0

What is the VRRP state of OS10-A after a router with a default VRRP admin priority with VRID100 comes online?

Options:




A- master-state
B- standby-state
C- backup-state

D- primary-state

Answer:

A

Question 2

Question Type: MultipleChoice

How does a DHCP Client make a request to a DHCP server following an offer?

Options:

A- Multicast
B- ACK

C- Broadcast



D- Unicast

Answer:

Question 3

Question Type: MultipleChoice

Which command is used to create a non-default VRF instance?

Options:

A-ip vrf
B- ip vrf forwarding new-vrf
C- ip vrf forwarding vrf-test

D- interface ethernet 1/1/1

Answer:




Question 4

Question Type: MultipleChoice

Which best describes traffic flow in a campus network environment?

Options:

A- North-East
B- South-West
C- East-West
D- North-South

Answer:

C

Question 5




Question Type: MultipleChoice

What is an advantage of UFD?

Options:

A- Reduces connectivity loss.
B- Detects the loss of downstream connectivity.
C- Reduces network complexity.

D- Prevents the loss of upstream connectivity.

Answer:

D

Question 6

Question Type: MultipleChoice

A customer reports they can no longer access their services and a network administrator has been assigned to investigate. A UFD
disabled error status appears on all ports. What caused the issue?



Options:

A- Spanning tree Loop-guard was implemented on the uplink-state group.
B- One of the upstream interfaces is an uplink-state group went down.
C- There was no issue; this is normal behavior.

D- Both a port channel and its members were assigned to an uplink-state group.

Answer:

A
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